Rational Functions #2
Consider the rational function 
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, where 
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 are polynomials.
(a) How would you find a y-intercept of 
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?  Where does this intercept occur, in terms of p and q?

(b) What are the roots of 
[image: image5.wmf])

(

x

f

, in terms of the roots of p and q?

(c) Is it possible for 
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to have vertical asymptotes?  If so, what has to be true about p and q for these asymptotes to occur?  What can you say specifically about where these asymptotes occur?

(d) Is it possible for 
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to have horizontal asymptotes?  If so, what has to be true about p and q for these asymptotes to occur?  
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